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£ FEAE2T ELEE 932 999 1,931
%2 BEARET/NER 1,064 1,248 2,312
%3 Tl sle o 1,389 1,649 3,038
F4 SHEEER 1,680 1,443 3,123
%5 KFHT/NER 1,134 1,350 2,484
%6 KETINERL 677 841 1,518
E-Y) BURFTTSY 604 642 1,246
%8 EHEEER 788 880 1,668
%9 tBHHRISY 864 863 1,727
%10 WAL h A 1,376 1,407 2,783
E11 FRARALF r—Ro—)L L E 839 922 1,761
%12 & HILEEEFR 1,186 1,290 2,476
%13 FRAREE 1,722 1,947 3,669
%14 FRH/NER 1,059 1,099 2,158
%15 E /MR 972 915 1,887
%16 = HEBRKOR 1,319 1,522 2,841
F17 EH/PNER 864 884 1,748
%18 Z-5%BE 2,451 2,509 4,960
%20 b/ RMXZ BHHHEE 23— 23 29 52
21 TEEFEERAREES— 87 95 182
%22 A/NER 556 569 1,125
%23 KFNERR 1,617 1,718 3,335
£24 LELIELDR 290 291 581
%25 =N 518 556 1,074
%26 FEHEDMER 1,047 1,091 2,138
%27 IT7—LtrA— 710 744 1,454
%28 it BT 2 B g 2— 132 136 268
%29 MEREE 68 73 141
%30 mEhRELE 362 433 795
31 EECELE 2,103 2,114 4217
%32 ERZ BN EE 54— 1,231 1,115 2,346
%33 FHINER 2,842 2,890 5,732
F34 FHREXME 1,529 1,623 3,152
%35 BtHXAREE 581 584 1,165
%36 LAoR—t2 42— 762 850 1,612
%37 BEIZEAERE 598 677 1,275
%38 ETELavE I vua—TLT—I 1,064 1,147 2,211
%39 [BE /R 466 412 878
40 EIDABEITELDR 1,535 1,603 3,138
F41 FABETST ERTNREE 1,016 1,055 2,071
F42 ERF/NERR 1,070 1,104 2,174
543 EfF4TBERTNEEE 1,646 1,760 3,406
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a4 BETSY 1,318 1,308 2,626
45 FHHFH/NER 1,769 1,794 3,563
5546 ALFr—t 32— 1,389 1,400 2,789
F47 BEILZRPER 1,625 1,756 3,381
%49 JLIRER /N 643 612 1,255
%50 BRHETNZEE 382 404 786
251 INFHEZREIEESH 419 432 851
%52 REREE 732 745 1,477
%53 REREE 446 507 953
54 INREZERFE LV E— 229 231 460
%55 TEHS 167 176 343
%56 REREE 142 183 325
%57 ICIXFEREE 236 212 448
%58 aESNHEE— 137 153 290
%59 KFLREE 50 60 110
2560 TOSEMEE 57— 56 53 109  s52513] 55105 107618
TIEXE1 | RFNER 466 510 976
TIEXE2 (PG EEFE 22— 60 62 122
RIFXES |RIFBGEEEF— 203 198 401
TIZEXE4 BBEEEVI— 18 19 37
ZIEXES SRR EERAZEE2— 97 97 194
RIEXE6 |ERTFHREZRRFE L 2— 47 37 84
REXET |RlShHHNE E— 35 41 76 926 964|  1.890
ENRXE (BNEREIZ2=T4T5Y 411 416 827
BINRESE?2 HENRAETE 302 313 615
SANERERXES [F)IRE Lt EE e 54— 299 318 617
HNERXES [ BEEFT 17 15 32
HNERXES (AR08 105 102 207
AINREXEES |PEFHERM 163 172 335 1207 1336] 2633
AXEXFE1 | KEEEMNRERELV 22— 71 75 146
AXERXRZFE2 | KEZEMKR—ILANGHUE 303 362 665
AERHES | KBEEFRELV2— 67 72 139
AEXEL | KEHGEEFE L 2— 65 54 119
REXES EREEMNERERELVF— 62 60 122 568 623 1191
HXE1 |BEOLKE 93 88 181
MRXE2 |HHEE 306 339 645
WMRXE3 |HASNHUMARKRRIEER 107 109 216
WEXFE4 |AEILFEMIRR 28 29 57
HMRXES |EEEMHEEVS— 26 27 53
WMRXE6 |/ EERFR 43 48 91
BEXET |[HREE 99 144 243 702 784 1.486
MIBXE1 (M3 =—T4T5Y 959 1,101 2,060
MBXE2 | AL ESEFEFER 540 601 1,141
MIBXES | £ TE/NER 717 782 1,499
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MIBXE4 |MHIBAEE 532 516 1,048
MBXES |t/ tXIZa=TsE05— 97 107 204
X6 | TRINNER 602 611 1,213
MBXET |(MHFhXAsRER)IHEE 206 228 434
X8 | HilE)I# K5 66 69 135
MIBXE [LEES 24 17 41 3743] 4032|7775
KBREL [ KEETHRER 910 978 1,888
KBRE2 | KBET/NER 1,198 1,228 2,426
KBREEI |EimERTASE 919 1,014 1,933
KBXFEL |(BiRETAREE 122 136 258
KBEES | KBEAEHELE— 643 667 1310 3792|4023 7815
BEWXE1 |EEaSa=T4T5Y 758 718 1,476
EWXE2 |mIl/hER 1,820 1,879 3,699
WEHXES [ERihRAREXRIRHDE 260 251 511
ERHXFE4 EEtX A REEE 301 301 602
ERXES |BAREE 430 432 862
WX Ee |SEEtX N RERAESE 193 184 377
BHXET | RELARE 43 34 77 3.805 3,799 7.604
TIXE2 [(RtgEEFE L 5— 138 133 271
HINRXES [FNMRARERBESRHEE 199 216 415
FIIXEL |FBERARERSDEE 105 129 234
HIRXES |[FRAREBESE 76 75 151
TIRE6e (FIREES2— 525 565 1,090
HINRFET [FNNHRARENTESEE 228 241 469
SIIXES |HIEMREERR 52— 312 343 655 1583] 1702|3285
PXET |BREEE2— 158 146 304 T
PEXE2 (PRS2 =TATSY 584 612 1,196
FMXE3 | —AKEEE 263 294 557
P4 |FEREBXENE 222 261 483
hRMRES |EREEFHELL 53— 256 243 499  1483]  1556] 3039
BREXEl HREERHNRERELVS— 799 889 1,688
WRERXRE2 |BR/NER 876 905 1,781
RERXES |[BEE/NER 342 396 738
REXFESL |FAHXHEERNT R 107 100 207
WRERXES |IBWLEB/NER 304 329 633
IREXE6 |IBREHXNREIILSEE 41 40 81
WRERET |[FTESMBLELI— 133 120 253 902 2779|5381
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BERE |[BFERR—YEI 42— 695 705 1,400

BERXE2 EEBARE 139 131 270

BERXE RFEFHFZEMERAR 91 86 177

FERE4 (Mt e EFE A — 172 149 321 1,097 1,071 2168

EMRE |BANER 606 611 1,217

=MRE2 |HEE 389 414 803

SHRES | ERINER 224 228 452

SHXE4 HHEEEFEEI— 157 154 311

=ZHRXES |=FRER 420 492 912

=MRXE6 |EF/IFER 305 276 581

=MRET | REHRIE 132 128 260| 9933 2303] 4536

BIARXET |(BIAMRAREE 587 661 1,248

ZIMRXE2 |MAEE 148 124 272

ZIRXES (HFETHRE 133 141 274

BIAXEL |BIABRARE ERAIHEE 51 50 101

BIXFES | FEMIEEEFE 52— 86 90 176 1,005 1066] 2,071
T &% EF B &K G 77,349 81,143 158492
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